
Načítajte dve obdĺžnikové matice a vytlačte ich súčin. 
 
 

 

zaciatok
premenne: 
A[0][0]...A[19][19], B[0][0]...B[19][19], C[0][0]...C[19][19], 
i, j, k, m, n, r, s, Suma citanie: m, n 

i = 0, 1, …, m-1 

koniec cyklu j 

j = 0, 1, …, s-1 

koniec cyklu i 

1 

i = 0, 1, …, m-1 

koniec cyklu j 

j = 0, 1, …, n-1 

1 

koniec cyklu i 

citanie: A[i][j] 

i = 0, 1, …, m-1 

koniec cyklu j 

j = 0, 1, …, s-1 

koniec cyklu i 

tlac: A[i][j] 

koniec

koniec cyklu k 

k = 0, 1, …, n-1 

Suma = 0 

Suma = Suma + A[i][k] * B[k][j]

citanie: r, s 

C[j][j] = Suma 

i = 0, 1, …, r-1 

koniec cyklu j 

j = 0, 1, …, s-1 

koniec cyklu i 

citanie: B[i][j] 

n ≠ r + 

- Matice sa 
nedaju nasobit


